
CP-Violation Discovery Fraction 1.0× 1021 muon decays per year per polarity
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(a) TASD: sin2 2θ13 = 10−1
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(b) TASD: sin2 2θ13 = 10−2
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(c) LAr (cons): sin2 2θ13 = 10−1
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(d) LAr (cons): sin2 2θ13 = 10−2
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(e) LAr (opt): sin2 2θ13 = 10−1
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(f) LAr (opt): sin2 2θ13 = 10−2

P. Ballett, P. Huber and S. Pascoli (2011) http://www.ippp.dur.ac.uk/~ballett/LENF



CP-Violation Discovery Fraction 1.0× 1021 muon decays per year per polarity
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(g) TASD: sin2 2θ13 = 10−3
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(h) TASD: sin2 2θ13 = 10−4
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(i) LAr (cons): sin2 2θ13 = 10−3
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(j) LAr (cons): sin2 2θ13 = 10−4
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(k) LAr (opt): sin2 2θ13 = 10−3
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(l) LAr (opt): sin2 2θ13 = 10−4
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